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Note:

fAder :

Note:

ﬁ{{QT :

The question paper is divided into three sections A, B and
C. Write answers as per the given instructions. Use of non-
programmable simple calculator is allowed in this paper.
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Section - A 8§x2=16
(Very Short Answer Questions)

Examinees have to attempt all questions. Maximum word
limit may be 30 words. Each question carries 2 marks.
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1) Give answer of the following questions.

(i)

What is Least Cost Combination?

IATH AN FART T ¢ 2
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(i) What is Giffen Good?

fifth T fh¥ @ & 2
(iif) What do you understand by Price Effect?
DHIFT YA H 379 T FHSI 8 2
(iv) Define Consumer Surplus.
SUAIGHT Pl Fad D FIA|
(v) Define Pareto Optimality
Nl gseaydl ol TRYTRIT HifvR|
(vi) What is Monopsony?
ShATIPITRIDBRT T B 2
(vii) What is meant by Collusive Oligopoly?
AUl FeUTIR T AR T & 2
(viii) Write Eular's Theorem.
IeR T forRau
Section - B 4X8=32

(Short Answer Questions)

Note: Section ‘B’ contain Eight Short Answer Type Questions.
Examinees will have to answer any 04 questions. Each
question is of 08 marks. Examinees have to delimit each
answer in maximum 200 words.
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2) Write the features of Long run Average Cost Curve.
STl JIRIT AN g & [T foaRau)
3) Write the name factors affecting demand.
qRT Dl J9IfId x-aTel dcal & R J faRau|
4) Explain Innovation Theory of Profit.
ST BT 79 Haa- T RIGIa Pl aReT DI
5) Discuss Keldor's compensation principle theory?
hesR a1 afcgfd Rigra &t ==t b
6) Explain the Social Welfare Function.
ATHINTG BT el Bl IRST DT
7) What are the conditions for Price Discrimination?
Ha fIadaRor Ht ot =T g 2
8) Derive the demand curve from indifference curve.
TCEITT Tsh T TGN | HIT Ish T GeafT Hhifm
9) Make a diagram of Total Fixed Cost, Total Variable Cost and
Total Cost curves.
P fRR AN, PoT aRac e AT TG PeT AN DT T
CRIEO]
Section - C 2%X16=32
(Long Answer Questions)
Note: Section ‘C’ contain four Long Answer Type Questions.
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Examinees will have to answer any 02 questions. Each
question is of 16 marks. Examinees have to delimit each

answer in maximum 500 words.
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Qus - |
(e TR ¥ed)
fAder : gus ‘@' ¥ IR FEruras Uy 81 wenffat @ el off 02
sl & STa ST &1 UAD UY 16 3l T gl uetar ar
Jftrpa® 500 eg) B YD STaTe IRAHT P 2l

10) What is Indifference curve? Write the features of indifference
curve. What are the conditions of consumer equilibrium in
ordinal approach?

JeEUAT dash a1 g° dcedl a hl ar faeman g forkau)
SUHIGT AT & ShHaTde giSeahiv § ot /T g ?

11) Explain the concept of cost with the help of table and diagram.

SIRTT I TGN Y IGTe T dlfotenl & H1EIH F IRSAT DI

12) What is Perfect completion market? Determine price and
output in short run and long run in this market.
quf IR I9IR 91 22§99 IR § 37eUdhldl Ud Gedhlel §
DA Td IqTGH FHSAT|

13) Write short notes on any two of the following.
(i) Keynes theory of interest.
(i) Returns of Scale.
(iii) New Welfare Economics.
=T & 3 fobegl &1 W ofg fevooft hifsry|
() HF B =T~ RIgra
(i) T & wfhe
(iii) =TT PeATor IefARH
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